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SARDAR PATEL UNIVERSITY
B.Com. ({III - Semester) Examination
Tuesday, 4" December 2018
10.00 am - 12.00 pm
UBO3ECOMD2/18
Advanced Cost Accounting

Total Marks: 60

Note: Figures to the right indicate marks.

Q.1 Write Short notes:
(1) Certified Work and Non Certified Work
(2) Escalation Clause
OR
Q.1 "Krishna" Ltd. undertook the construction of a building at a contract price of
Rs.240000. The date of commencement of Contract was 1.4.2015.
The Following cost information is given for the year ended 31* March 20186.

Materials (Direct) 76950
Materials (From Stores) 15750
Wages 40950
Direct Expenses 13050
Establishment Charges 4500
Plant 48300
Sub construction costs 4500
Sale of Scrap 3000

The Further Information is as follows,

(1) Accruals on 31% March 2016 were wages Rs. 4050 and direct
expenses Rs. 3150.

(2) The Cost of Work uncertified included materials Rs. 4800 wages
Rs. 2400 and direct expenses Rs.1500. 7

(3) Plant of Rs. 7500 and Materials of Rs. 3000 were destroyed by Fire,

(4) Plant Costing Rs. 10500 was sold for 9000 and Materials Costing

- Rs. 4500 were Sold for Rs. 6000.

(5) Depreciation till 31 st March 2016 on plant 3300.

(6) Materials at site were Rs. 7500.

(7} Case received from the contractee was Rs. 144000 being 80 % of
work certified.

{8) Transfer % Profit on cash basis to Profit Loss Afc.

Prepare Contract Alc.
Q.2 Write Short notes:
(1) Joint Products and by Products.

(2) Abnormal Loss and Abnormalgain.

OR

(15)

(15)

(15)




Q.2 A Product Passes through three different Processes to completion in March (15)
2009 the Cost of Production was as given below.

Process
1 (Rs.) lI{Rs.) 1lI{Rs.)
Direct Material 2000 3020 3462
Direct Waged 3500 4226 5000
Production Overheads 1500 2000 2500

1000 Units of materials were introduced in process | at Rs. 5 each.

Process

| i i
Normal Wastage 10 % 5% 10 %
(of the Unit introduced) :
Sale Price of Wastage Rs. 3 Rs. 5 Rs. 6
(Per Unit)
Actual Production ' 820 - 870 800
(In Unit) '

There is no unfinished work in process prepare necessary process Alc and
Abnormal Loss Aflc and Abnormal Gain A/c

Q.3 What is Activity Based Costing. Explain it Concept and Characteristics. (15)
OR
Q.3 (15)
(A) Discuss the advantages of Activity Based Costing.
(B) Write Short notes ;- Cost Drivers.

Q.4 From the Following Information Find Out Cost Per Kilometer of one vehicle. (15)
Annual Kilometre 30000
Cost of Vehicle 500000
Annual Expenses .
Licence Fee 16000
Insurance ' 14000
Garage rent 12000
Supervisor's Salary 24000
Salary of a driver per hour 5
Price of Petrol Per Litre 50
Repairs per Kilometre 2
Tyre Exp Per Kilometre 1.50 Paisa
Kilometre Per Litre 20
Life of Vehicle is 200000
Kilometres Speed of Vehicle 20 Kilometre
OR
Q.4 Define Operating Costing and discuss its characteristics. State the (15)

industries to which it is applicable.
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